
RELAÇÃO DO AÇO

P1-L3 P1-L2 P2-L3

P2-L2 3xP3-L3 3xP3-L2

3xP5-L2 P6-L3 P6-L2

2xP7-L3 2xP7-L2 V1-L3

V1-L2 V2-L3 V2-L2

V3-L3 V3-L2 V4-L3

V4-L2 V5-L3 V5-L2

V6-L3 V6-L2 V7-L2

V8-L2 V9-L2

AÇO N DIAM
QUANT C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 41 25 1025

2 5.0 548 81 44388

3 5.0 32 57 1824

4 5.0 53 25 1325

5 5.0 94 91 8554

6 5.0 24 62 1488

7 5.0 213 71 15123

8 5.0 54 57 3078

9 5.0 2 220 440

10 5.0 2 295 590

11 5.0 2 285 570

12 5.0 2 269 538

CA50 13 8.0 8 583 4664

14 8.0 2 108 216

15 8.0 1 110 110

16 8.0 2 311 622

17 8.0 1 145 145

18 8.0 2 614 1228

19 8.0 4 93 372

20 8.0 4 98 392

21 8.0 2 619 1238

22 8.0 2 88 176

23 8.0 2 147 294

24 8.0 2 609 1218

25 8.0 2 446 892

26 8.0 2 472 944

27 8.0 7 434 3038

28 8.0 2 470 940

29 8.0 2 217 434

30 8.0 2 442 884

31 8.0 1 192 192

32 8.0 1 115 115

33 8.0 2 450 900

34 8.0 2 175 350

35 8.0 2 211 422

36 10.0 30 297 8910

37 10.0 30 348 10440

38 10.0 12 307 3684

39 10.0 1 295 295

40 10.0 2 425 850

41 10.0 2 315 630

42 10.0 2 444 888

43 10.0 2 441 882

44 10.0 4 434 1736

45 10.0 1 136 136

46 10.0 2 497 994

47 10.0 3 492 1476

48 10.0 1 153 153

49 10.0 3 444 1332

50 10.0 1 140 140

51 10.0 3 453 1359

52 12.5 8 297 2376

53 12.5 8 357 2856

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 8.0 197.9 85.9

10.0 339.1 229.9

12.5 52.3 55.4

CA60 5.0 789.4 133.8

PESO TOTAL

(kg)

CA50 371.3

CA60 133.8

Volume de concreto (C-25) = 5.68 m³

Área de forma = 102.67 m²
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